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Directions: In Question Nos. 1 - 4, select the

related letters/word/number from the

given alternatives.

1. MAN : BIOGRAPHY : : NATION : ?

(A) PEOPLE (B) POPULATION

(C) GEOGRAPHY (D) HISTORY

2. 21 : 3 : : 574 : ?

(A) 23 (B) 82

(C) 97 (D) 113

3. BELL : AFKM : : DOOR : ?

(A) CNPQ (B) ENPS

(C) EPNS (D) CPNS

4. NLO : RPS : : VTW : ?

(A) XVY (B) VTR

(C) TRP (D) VUW

Directions: (Questions No. 5) Arrange the

following in a logical order starting from

the smallest.

5. 1. Ocean,  2. Sea,  3. Pond,  4. River

(A) 3, 1, 4, 2 (B) 3, 4, 2, 1

(C) 1, 4, 2, 3 (D) 2, 4, 3, 1

Directions : Select the missing number from the
given response.

6. 466 398

341 282

250 ?

(A) 298 (B) 322

(C) 350 (D) 268

7. 18 15

549

17 19

650

15 14

?
(A) 210 (B) 225
(C) 196 (D) 421

Directions (Q. nos. 8 - 10) : Select the related

letters/word/number from the given

alternatives.

8. Parts : Straps : : Wolf : ?

(A) Fox (B) Animal

(C) Wood (D) Flow

9. BIRD : WIRY : : RAIN : ?

(A) VRIW (B) NIAR

(C) MRZI (D) QAIM

10. 7 : 49 : 56 : : 14 : 196 : 210 : : ?

(A) 9 : 81 : 91 (B) 12 : 140 : 156

(C) 21 : 441 : 462 (D) 21 : 440 : 461

11. A statement is given followed by two as-

sumptions, (I), (II). You have to consider the
statement to be true, even if it seems to be

at variance from commonly known facts.

Part - I (General Intelligence)

You are to decide which of the given as-
sumptions can definitely be drawn from the

given statement. Indicate your answer.

Statement:

Theoretical education does not bring in
economic advancement and it leads to a

steady loss of confidence and money in the

country.

Assumptions:

(I) There is close relationship between
development of confidence and

economic development.

(II) Theoretical education makes priceless

contribution for deve lopment of
confidence.

(A) Only I is implicit.

(B) II is implicit.

(C) Both I and II are implicit

(D) Both I and II are not implicit.

12. Identify the correct response from the given

premises stated according to following sym-

bols.

If '-' stands for division

'+' stands for multiplication

'÷' stands for subtraction

'×' stands for addition

(A) 19 + 5 - 4 × 2 ÷ 4 = 11

(B) 19 × 5 - 4 ÷ 2 + 4 = 16

(C) 19 ÷ 5 + 4 - 2 × 4 = 13

(D) 19 ÷ 5 + 4 - 2 ÷ 4 = 20

13. In a particular way the word CAT is coded

as XZG. BOAT as YLZG. Using the same cod-

ing, how can EGG be written?

(A) VSS (B) URR

(C) VTT (D) UTT

14. From the given answer figures, select the

one in which the question figure is hidden/

embedded.

Question Figure :

Answer Figures :

(A) (B) 

(C) (D) 
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Part - I (rdZ'kfDr ijh{k.k)

funsZ'k% iz'u la. 1 ls 4] rd esa] fn;s x;s fodYiksa esa ls lEcfU/r
v{kjksa@'kCn@la[;k dks pqfu,A

1. vkneh : vkRedFkk : : jk"Vª : ?

(A) yksx (B) tula[;k
(C) Hkwxksy (D) bfrgkl

2. 21 : 3 : : 574 : ?

(A) 23 (B) 82

(C) 97 (D) 113

3. BELL : AFKM : : DOOR : ?

(A) CNPQ (B) ENPS

(C) EPNS (D) CPNS

4. NLO : RPS : : VTW : ?

(A) XVY (B) VTR

(C) TRP (D) VUW

funsZ'k% iz'u la. 5 esa lcls NksVs ls vkjEHk djds fuEu dks
rdZlaxr Øekuqlkj izLrqr dhft,A

5. 1. egklkxj]   2. lkxj]   3. rkykc]    4. unh
(A) 3, 1, 4, 2 (B) 3, 4, 2, 1

(C) 1, 4, 2, 3 (D) 2, 4, 3, 1

funsZ'k % fn, x, fodYiksa esa ls yqIr la[;k Kkr dhft,&

6. 466 398

341 282

250 ?

(A) 298 (B) 322

(C) 350 (D) 268

7. 18 15

549

17 19

650

15 14

?

(A) 210 (B) 225
(C) 196 (D) 421

funsZ'k% iz'u la[;k 8 & 10 rd esa fn;s x;s fodYiksa esa ls
lEcfU/r v{kjksa@'kCn@la[;k dks pqfu,A

8. Parts : Straps : : Wolf : ?

(A) Fox (B) Animal

(C) Wood (D) Flow

9. BIRD : WIRY : : RAIN : ?

(A) VRIW (B) NIAR

(C) MRZI (D) QAIM

10. 7 : 49 : 56 : : 14 : 196 : 210 : : ?

(A) 9 : 81 : 91 (B) 12 : 140 : 156

(C) 21 : 441 : 462 (D) 21 : 440 : 461

11. ,d oDrO; fn;k x;k gS] ftlds vkxs nks iwokZuqeku (I) vkSj
(II) fn, x, gSaA vkidks fopkj djuk gS fd oDrO; lR; gS
pkgs og lkekU;r% Kkr rF;ksa ls fHkUu izrhr gksrk gksA vkidks
fu.kZ; djuk gS fd fn, x, oDrO; esa ls dkSu&lk fuf'pr
:i ls lgh iwokZuqeku fudkyk tk ldrk gSA vius mÙkj dks
fufnZ"V dhft,A

oDrO; : lS¼kfUrd f'k{kk ls vkfFkZd izxfr ugha gksrh vkSj blls ns'k
esa vkRefo'okl vkSj /u dh fuajrj gkfu gksrh gSA

iwokZuqeku : (I) vkRefo'okl ds fodkl vkSj vkfFkZd fodkl esa
xgjk laca/ gSA

(II) vkRefo'okl ds fodkl esa lS¼kfUrd f'k{kk dk
vewY; ;ksxnku gSA

(A) dsoy I fufgr gSA

(B) II fufgr gSA

(C) I vkSj II nksuksa fufgr gSaA

(D) I vkSj II nksuksa fufgr ugha gSaA

12. ;fn '-' dk vFkZ gS Hkkx] '+' dk vFkZ gS xq.kk] '÷' dk vFkZ
gS ?kVkuk vkSj '×' dk vFkZ gS tksM+uk rks dkSu&lk lehdj.k
lgh gSA

(A) 19 + 5 - 4 × 2 ÷ 4 = 11

(B) 19 × 5 - 4 ÷ 2 + 4 = 16

(C) 19 ÷ 5 + 4 - 2 × 4 = 13

(D) 19 ÷ 5 + 4 - 2 ÷ 4 = 20

13. ,d fo'ks"k izdkj ls CAT 'kCn dks XZG, BOAT dks
YLZG fy[kk (dksM) fd;k x;k gSA mlh dksM dk iz;ksx dj
EGG dks fdl izdkj fy[kk tk ldrk gS\
(A) VSS (B) URR

(C) VTT (D) UTT

14. nh x;h mÙkj esa ls ml ,d dks pqfu,] ftlesa iz'u vkÑfr
fufgr gSA

iz'u vkÑfr;k¡

mÙkj vkÑfr;k¡

(A) (B) 

(C) (D) 
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Directions : (Q. no. 15). Which one set of letters
when sequentially placed at the gaps in
the given letter series shall complete it ?

15. ac__cab__baca__aba__aca__

(A) acbcc (B) aacbc

(C) babbb (D) bcbba

16. Among the following four diagrams, which
one illustrates the relationships among
citizens, voters and males ?

(A) (B) 

(C) (D) 

17.
11

10 6 4

5 3

12

73

In the above diagram square represents
boys, circle represents the tall persons,
triangle represents tennis players, and
rectangle represents the swimmers. Which
one of the following numbers represents tall
boys who are swimmers, but don’t play
tennis ?

(A) 4 (B) 3

(C) 6 (D) 5

18. If D = 4, SHE = 32, then DINESH = ?

(A) 57 (B) 52

(C) 49 (D) 59

Directions : Given below are some capital letters.
Under each capital letter a number is written
which is to be used as a code for the capital let-
ter.

R T S U V A B C D E

8 5 2 0 6 7 9 1 3 4

In the given question a group of numbers is
given and its code equirvalent is given in
one othe columns (A), (B), (C) or (D). Study
the question and with the help of code given
above, chose the code equivalent from
amongst (A), (B), (C), or (D) as your answer.

19. 2 8 9 6 4 9

(A) SRBEVB (B) SRBVEB

(C) RSBEVE (D) SVRBVB

20. Which letter follows the 12th letter from left
and precedes 13th letter from right in the
English alphabets?

(A) L (B) M

(C) N (D) P

21. In a sports competition, the position of one
of the players is 8th from the top and 84th

from the bottom. What is the total number
of the competitors?

(A) 93 (B) 91

(C) 89 (D) 88

22. Each letter of the alphabet from A to Z has
been given a value from 1 to 26 serially.
What is the value of the following word?

A L P H A B E T S

(A) 65 (B) 84

(C) 57 (D) 79

23. If A = 2, R = 5, S = 7, 0 = 3 and E = 4, the sum
of the letters of which word will give the
highest number?

(A) SOAR (B) EARS

(C) REAR (D) OARS

24. If day before yesterday was Thursday, what
day will be four days after tomorrow?

(A) Monday (B) Thursday

(C) Sunday (D) Wednesday

25. If Friday falls on 15th of September 2000,
what will be the day on 15th of September
2001?

(A) Friday (B) Saturday

(C) Thursday (D) Sunday

Directions : Find the odd word/letters/figure/
number pair from the given responses.

26.

(A) (B) (C) (D)

27. (A) Long-Short (B) Black-White

(C) Head-Cap (D) Friend - Foe

28. (A) Iron (B) Plastic

(C) Brass (D) Copper

29. (A) BDH (B) CFL

(C) EJU (D) DHP

30. (A) CBCD (B) IHIJ

(C) ONOP (D) UTUW

31. (A) ADGPT (B) ACEIK

(C) ABDEI (D) ADIPY

32. (A) 064 (B) 208

(C) 316 (D) 118

33. (A) 36 (B) 61

(C) 84 (D) 108

34. (A) 25 - 50 (B) 121 - 11

(C) 17 - 289 (D) 15 - 225
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funsZ'k % iz'u la- 15 esa v{kjksa dk dkSu lk lewg [kkyh LFkkuksa
ij Øekokj j[kus ls nh v{kj Jà[kyk dks iwjk djsxkA

15. ac__cab__baca__aba__aca__

(A) acbcc (B) aacbc

(C) babbb (D) bcbba

16. uhps fn, x, pkj vkjs[kksa esa ls] dkSulk ,d] ukxfjdksa]
ernkrkvksa vkSj iq:"kksa ds chp lEcU/ksa dks Li"V djrk gS\

(A) (B) 

(C) (D) 

17.
11

10 6 4

5 3

12

73

mi;qZDr vkjs[k esa oxZ ls yM+ds fu:fir gksrs gSa] òÙk ls yEcs
O;fDr fu:fir gksrs gSa] f=kHkqt ls Vsful f[kykM+h fu:fir gksrs
gSa]Sa vkSj vk;r ls rSjkd fu:fir gksrs gSaA fuEufyf[kr esa ls
dkSulh la[;k mu yEcs yM+dksa dks fu:fir djrh gS tks
rSjkd gSa Vsful ugha [ksyrs\
(A) 4 (B) 3

(C) 6 (D) 5

18. ;fn D = 4, SHE = 32, rks DINESH = ?

(A) 57 (B) 52

(C) 49 (D) 59

funsZ'k : uhps dqN cM+s v{kj fn, x, gSaA izR;sd cM+s v{kj ds uhps
,d la[;k nh xbZ gS ftldks cM+s v{kj ds dwV ds :i esa iz;ksx djuk
gSA

R T S U V A B C D E

8 5 2 0 6 7 9 1 3 4

uhps ds iz'u esa la[;kvksa dk ,d lewg fn;k x;k gS vkSj
mldk dwV&:i LrEHk (A), (B), (C) ;k (D) esa ls fdlh ,d
esa fn;k x;k gSA iz'u dks if<+;s vkSj mlds lgh&dwV :i dk
LrEHk (A), (B), (C), ;k (D) esa ls p;u dhft,A

19. 2 8 9 6 4 9

(A) SRBEVB (B) SRBVEB

(C) RSBEVE (D) SVRBVB

20. vaxzsth o.kZekyk ds og dkSu lk v{kj gS tks cka;s ls 12osa v{kj
ds ckn vkrk gS vkSj nk;sa ls 13osa v{kj ls igys vkrk gS\
(A) L (B) M

(C) N (D) P

21. ,d [ksy izfr;ksfxrk esa ,d f[kYkkM+h dk LFkku mQij ls 8ok¡
rFkk uhps ls 84ok¡ FkkA dqy izfr;ksfx;ksa dh la[;k FkhaA
(A) 93 (B) 91

(C) 89 (D) 88

22. A ls Z rd o.kZekyk ds izR;sd v{kj dk eku Øe'k% 1 ls
26 rd fn;k x;k gSA ;g crkb, fd fuEufyf[kr 'kCn dk
eku D;k gS\
A L P H A B E T S

(A) 65 (B) 84

(C) 57 (D) 79

23. ;fn A = 2, R = 5, S = 7, 0 = 3 vkSj E = 4, rks
fuEufyf[kr esa ls fdu v{kjksa dk ;ksxiQy lcls vf/d
gksxk\
(A) SOAR (B) EARS

(C) REAR (D) OARS

24. ;fn ijlksa cg̀Lifrokj Fkk rks dy ds pkj fnu ckn dkSu lk
fnu gksxk\
(A) lkseokj (B) c`gLifrokj
(C) jfookj (D) cq/okj

25. ;fn 15 flrEcj] 2000 dks 'kqØokj gS rks 15 flRkEcj] 2001
dks dkSu lk fnu gksxk\
(A) 'kqØokj (B) 'kfuokj
(C) cg̀Lifrokj (D) jfookj

funsZ'k % fn;s x;s fodYiksa esa ls fo"ke 'kCn@v{kj@vkÑfr@la[;k ;qXe
pqfu,A

26.

(A) (B) (C) (D)

27. (A) yack - NksVk (B) dkyk - liQsn
(C) flj - Vksih (D) fe=k - 'k=kq

28. (A) yksgk (B) IykfLVd

(C) ihry (D) rk¡ck
29. (A) BDH (B) CFL

(C) EJU (D) DHP

30. (A) CBCD (B) IHIJ

(C) ONOP (D) UTUW

31. (A) ADGPT (B) ACEIK

(C) ABDEI (D) ADIPY

32. (A) 064 (B) 208

(C) 316 (D) 118

33. (A) 36 (B) 61

(C) 84 (D) 108

34. (A) 25 - 50 (B) 121 - 11

(C) 17 - 289 (D) 15 - 225
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35. (A) (9, 36, 81) (B) (32, 64, 88)

(C) (55, 135, 165) (D) (35, 63, 78)

36.

(A) (B) (C) (D)

37. Mr and Mrs Gopal have three daughters and

each daughter has one brother. How many

persons are there in the family?

(A) 5 (B) 6

(C) 7 (D) 8

38. Among five children A, B, C, D and E, B is

taller than E but shorter than A. A is shorter

than C but taller than D who is taller than

B. If all the children stand in a line accord-

ing to their heights, who would be fourth if

counted from the tallest one?

(A) A (B) E

(C) D (D) B

39. B is D's mother and C is D's brother. H is

E's daughter whose wife is D. How are E and

C related?

(A) Father-in-law (B) Brother-in-law

(C) Uncle (D) Brother

40. Sheela walks form A to B which is 2 km

away, turns right at 900 and walks for 3 km

to point C, turns right at 900 and walks to D

which is 8 km away, turns 900 right and

goes 3 km to point K. Then, once again she

turns right, 900 and walks 4 km to point F.

How far is  A from F?

(A) 2 km (B) 4 km

(C) 6 km (D)  8 km

41. Two positions of a dice are shown below:

When 2 is at the bottom, what number will

be at the top?

(A) 3 (B) 5

(C) 1 (D) 6

42. How many triangles are there in the given

figure?

(A) 16 (B) 15

(C) 14 (D) 13

43. From amongst the given alternatives, select

the one in which the set of numbers is most

like the set of numbers given below :

(6,14,30)

(A) 4,16,28 (B) 7,12,22

(C) 6,12,22 (D) 5,12,20

44. Which one of the given responses would be

a meaningful order of the following words ?

1. Family 2. Community

3. Member 4. Locality

5. Country

(A) 3,1,4,2,5 (B) 3,1,2,4,5

(C)  3,1,2,5,4 (D) 3,1,4,5,2

45. Arrange the following according to the dic-

tionary :

(A) TORTOISE (B) TORONTO

(C) TORPED (D) TORUS

(E) TORSEL

(A) B,E,C,A,D (B) B,E,C,D,A

(C) B,C,E,A,D (D) B,C,E,D,A

46. Suresh is 7 ranks ahead of Ashok in the

class of 39 students. If Ashok’s rank is 17th

from the last, what is Suresh’s rank from

the start ?

(A) 16th (B) 23rd

(C) 24th (D) 15th

47. A word/set of letters given in capital letters

is followed by four answer words. Out of

these only one cannot be formed by using

the letters of the given word/set of letters.

Find out that word

INDETERMINATE

(A) DETERMINE (B) RETINUE

(C) REMINDER (D) RETINA

48. A group of alphabets are given with each

being assigned a numerical code. These

have to be unscrambled into a meaningful

word and the correct code so obtained may

be indicated from the given responses:

R  A H  K  S

1  2  3  4  5

(A) 51234 (B) 54213

(C) 53214 (D) 53124

49. Pointing to a lady in a photograph, Meera

said, “Her father’s only son’s wife is my

mother-in-law”. How is Meera’s husband related

to that lady in the photo ?

(A) Nephew (B) Uncle

(C) Son (D) Father

50. Your age is 10 years less than half your

mother’s age who is 5 years younger than

your father. If your father is 45 years old,

what is your age?

(A) 20 years (B) 15 years

(C) 10 years (D) 5 years
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35. (A) (9, 36, 81) (B) (32, 64, 88)

(C) (55, 135, 165) (D) (35, 63, 78)

36.

(A) (B) (C) (D)

37. Jh vkSj Jherh xkskiky ds 3 iqf=k;k¡ gSaA izR;sd iq=kh dk ,d
HkkbZ Hkh gSA rks bl ifjokj esa dqy fdrus lnL; gS\
(A) 5 (B) 6

(C) 7 (D) 8

38. A, B, C, D vkSj E ik¡p cPps gSa buesa B, E ls yEck gS]
fdUrq A ls NksVk gSA A , C ls NksVk gS] ij D ls yEck gS]
tcfd D, B ls yEck gSA ;fn lHkh cPpksa dks ,d iafDRk esa
yECkkbZ ds vuqlkj [kM+k fd;k tk,] rks yEckbZ ds vuqlkj
pkSFks uEcj ij dkSu gksxk\
(A) A (B) E

(C) D (D) B

39. B, D dh ek¡ gS vkSj C, D  dk HkkbZ gSA H, E dh csVh gS]
tcfd D, E dh iRuhA rc E vkSj C esa D;k lEcU/ gS\
(A) llqj (B) cguksbZ
(C) pkpk (D) HkkbZ

40. 'khyk A ls B rd 2 fdú ehú nwj pyrh gSA ogk¡ og 90ú

ij nk,¡ eqM+dj 3 fdú ehú C rd tkrh gSA fiQj 90ú ij nk,¡
eqM+dj 8 fdú ehú nwj D rd tkrh gSA fiQj 90ú nk,¡ eqM+dj
3 fdú ehú nwj K rd tkrh gSA ogk¡ og fiQj ,d ckj 90ú

ij nk,¡ eqM+dj 4 fdú ehú F rd tkrh gSA rc A ls F
fdruh nwjh ij gS\
(A) 2 fdú ehú (B) 4 fdú ehú
(C) 6 fdú ehú (D)  8 fdú ehú

41. ,d ik¡ls dh nks fLFkfr;k¡ uhps nh xbZ gS%

tc 2 uhps gS rks mQij dh la[;k D;k gksxh\
(A) 3 (B) 5

(C) 1 (D) 6

42. nh xbZ vkÑfr esa fdrus f=kHkqt gSa\

(A) 16 (B) 15

(C) 14 (D) 13

43. fn, x, fodYiksa esa ls ml fodYi dk p;u dhft,] ftleas
nh gqbZ la[;kvksa dk lewg fuEufyf[kr la[;kvksa ds lewg ds
leku gks%
(6,14,30)

(A) 4,16,28 (B) 7,12,22

(C) 6,12,22 (D) 5,12,20

44. fuEu fodYiksa esa ls dkSu lk fodYIk uhps fn, x, 'kCnksa dk
lkFkZd Øe n'kkZ,xk\
1. ifjokj 2. leqnk;
3.  lnL; 4. bykdk
5. ns'k
(A) 3,1,4,2,5 (B) 3,1,2,4,5

(C)  3,1,2,5,4 (D) 3,1,4,5,2

45. fuEufyf[kr 'kCnksa dks 'kCndks'k ds vuqlkj Øe ls j[ksa%
(A) TORTOISE (B) TORONTO

(C) TORPED (D) TORUS

(E) TORSEL

(A) B,E,C,A,D (B) B,E,C,D,A

(C) B,C,E,A,D (D) B,C,E,D,A

46. 39 fo|kfFkZ;ksa dh ,d d{kk esa lqjs'k v'kksd ls 7 jSad vkxs
gSA ;fn v'kksd dh jSad var ls 17oha gS rks lqjs'k dh vkajHk
ls dkSu lh jSad gksxh\
(A) 16 oha (B) 23oha
(C) 24oha (D) 15oha

47. cM+s v{kjksa esa ,d 'kCn@v{kj&lewg fn;k x;k gSA blds
i'pkr~ pkj 'kCn mlds mÙkj ds :i esa fn, x, gSaA fn, x,
'kCn@ v{kj&lewg ds v{kjksa dks feykdj buesa ls dsoy ,d
'kCn dks ugha cuk ldrs] mldks pqfu,A
INDETERMINATE

(A) DETERMINE (B) RETINUE

(C) REMINDER (D) RETINA

48. dqN v{kjksa ds lewg fn, x, gSaA buesa ls gj ,d v{kj dks
,d dwV vad fn;k x;k gSA bu v{kjksa dks bl rjg ls
O;ofLFkr djsa fd mlls ,d vFkZiw.kZ 'kCn cu tk; vkSj mlls
miyC/ dwV dks fn, gq, fodYiksa esa ls n'kkZ,%
R A H K S

1 2 3 4 5

(A) 51234 (B) 54213

(C) 53214 (D) 53124

49. fdlh iQksVksxzkiQ esa ,d efgyk dh vksj ladsr djrs gq, ehjk
us dgk] ̂ ^mlds firk ds ,dek=k iq=k dh iRuh esjh lkl gSA**
ehjk ds ifr dk iQksVks okyh efgyk ls D;k laca/ gS\
(A) Hkrhtk (B) pkpk
(C) iq=k (D) firk

50. vkidh vk;q vkidh ekrk dh vk;q ds vk/s ls 10 o"kZ de
gS tks vkids firk ls 5 o"kZ NksVh gSA ;fn vkids firk dh
vk;q 45 o"kZ gS rks mldh D;k vk;q gS\
(A) 20 o"kZ (B) 15 o"kZ
(C) 10 o"kZ (D) 5 o"kZ
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Part - II (Arithmetic)

51. ....121212 +++  is equal to

(A) 2 (B) 3 (C) 4 (D) 6

52.








−








−








−








−

999

997
2......

7

5
2

5

3
2

3

1
2

is equal to

(A) 
1001

999
(B) 

1001

999

(C) 
1001

3
(D) 

5

1001

53. [(0.0016)0.16 × (0.0016)0.09] is equal to

(A) 0.2 (B) 0.4
(C) 0.16 (D) 1.0

54. For two positive numbers a and b, if  a2 +
b2 = 24 and ab = 6, then (a3 + b3) is equal to
(A) 96 (B)   100 (C) 102 (D)   108

55. If x = 
12

12

−

+
 and xy = 1, the value of

22

22

232

232

yxyx

yxyx

+−

++
 is

(A) 
65

71
(B) 223+

(C) 
65

81
(D) 223−

56. If x = 
32

1

+
 and y = 

32

1

−
 , then the value

of 








+
+

+ 1

1

1

1

yx
 is

(A) 
3

1
(B) 3 (C) 2 (D) 1

57. The difference between 777 and the
nearest perfect square number is

(A) 4 (B) 7 (C) 27 (D) 28

58. The smallest number to be subtracted from
4750 so as to get a perfect square number is

(A) 126 (B) 162 (C) 216 (D) 612

59. A round balloon of unit radius subtends an
angle of 90° at the eye of an observer
standing at a point, say A. What is the
distance of the centre of the balloon from
the point A?

(A) 
2

1
(B) 2

(C) 2 (D) 
2

1

60. If a clock is started at noon, then what is
the angle turned by hour hand at 3:45 p.m.?
(A) 67.5° (B) 97.5°
(C) 112.5° (D) 142.5°

61. If 
1

2 coses y
y

   then the value of cot

is equal to:

(A) 
1 1 1 1

y 1 y
2 y 2 y

                   

(B) 
2

2

1 1 1
y y

2 2 y

            

(C) 
2

2

1 1
y 1

4 y

 
   
 

(D) 
1 1

y
2 y

 
   
 

62. In how many years will a sum of ` 3,000
yield a simple interest of ` 1,080 at 12%
per annum ?

(A) 3 (B) 
2

1
2

(C) 2 (D) 
2

1
3

63. A reduction of 10% in the price of a T.V. set
brought down its price by ` 1,650. The
original price of the set (in `) was
(A) 16,500 (B) 16,000
(C) 15,000 (D) 16,550

64. The salary of a person is decreased by 25%
and then the decreased salary is increased
by 25%. His new salary in comparison with
his original salary is
(A) the same (B) 6.25% more
(C) 6.25% less (D) 0.0625% less

65. Two numbers x and y are respectively 20%
and 50% more than a third number, x is
how much per cent of y ?
(A) 30 (B) 45
(C) 60 (D) 80

66. The ratio of the first and second class fares
between two railway stations is 4 : 1 and
that of the number of passengers travelling
by first and second classes is 1 : 40. If on a
day ` 1,100 are collected as total fare, the
amount collected from the first class
passengers is
(A) ̀  315 (B) ̀  275
(C) ̀  137.50 (D) ̀  100
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Part -II (vadxf.kr)

51. ....121212 +++  cjkcj gS

(A) 2 (B) 3
(C) 4 (D) 6

52. 







−








−








−








−

999

997
2......

7

5
2

5

3
2

3

1
2 cjkcj gS

(A) 
1001

999
(B) 

1001

999

(C) 
3

1001
(D) 

1001

5

53. [(0.0016)0.16 × (0.0016)0.09] cjkcj gS
(A) 0.2 (B) 0.4
(C) 0.16 (D) 1.0

54. nks /ukRed la[;kvksa a rFkk b ds fy,] ;fn a2 + b2 = 24

rFkk ab = 6 gS] rks (a3 + b3) gksxk
(A) 96 (B) 100
(C) 102 (D) 108

55. ;fn x = 
12

12

−

+
 rFkk xy = 1gks] rks 22

22

232

232

yxyx

yxyx

+−

++

dk eku gksxk

(A) 
65

71
(B) 223+

(C) 
65

81
(D) 223−

56. ;fn  x = 
32

1

+
 rF k k  y = 

32

1

−
 g k s ]  r k s










+
+

+ 1

1

1

1

yx
 dk eku gksxk

(A) 
3

1
(B) 3

(C) 2 (D) 1

57. 777 rFkk mlds lcls ikl okyh iw.kZ oxZ la[;k dk vUrj gS
(A) 4 (B) 7
(C) 27 (D) 28

58. 4750 esa ls fdl NksVh la[;k dks ?kVkus ij ,d iw.kZ oxZ la[;k
izkIr gksxh\
(A) 126 (B) 162
(C) 216 (D) 612

59. ,d f=kT;k okyk ,d xksy xqCckjk] fdlh fcUnq A ij [kM+s
n'kZd dh vk¡[k ij 90° dk dks.k vUrfjr djrk gSA xqCkkjs
ds dsUnz dh fcUnq A ls nwjh D;k gS\

(A) 
2

1
(B) 2

(C) 2 (D) 
2

1

60. ;fn ,d ?kM+h nksigj 12 cts pyuk vkjaHk djrh gS] rks
vijkà 3%45 cts ?kM+h dh ?k.Vs okyh lwbZ fdruk dks.k ?kwe
tk,xh\
(A) 67.5° (B) 97.5°

(C) 112.5° (D) 142.5°

61. ;fn 
1

2 coses y
y

   rks cot dk eku gS&

(A) 
1 1 1 1

y 1 y
2 y 2 y

                   

(B) 
2

2

1 1 1
y y

2 2 y

            

(C) 
2

2

1 1
y 1

4 y

 
   
 

(D) 
1 1

y
2 y

 
   
 

62. fdrus o"kksZa esa 12» okf"kZd nj ls ̀  3]000 dk lk/kj.k C;kt
` 1]080 gks tk,xkA

(A) 3 (B) 
2

1
2

(C) 2 (D) 
2

1
3

63. fdlh Vhú ohú lsV dh dher esa 10» dh deh vk tkus ls
bldh dher ̀  1] 650 de gks xbZA lsV dk vkajfHkd ewY;
` eas Fkk\
(A) 16,500 (B) 16,000

(C) 15,000 (D) 16,550

64. fdlh O;fDr ds osru dks 25» de dj fn;k x;k] rnqijkar
mlds de gq, osru dks 25» c<+k fn;k x;kA vkjafHkd osru
dh rqyuk esa mldk u;k osru gS
(A) cjkcj (B) 6.25% vf/d
(C) 6.25% de (D) 0.625% de

65. nks la[;k,¡ x rFkk y fdlh rhljh la[;k ls Øe'k% 20» rFkk
50» vf/d gSaA x, y ds fdrus izfr'kr ds cjkcj gS\
(A) 30 (B) 45

(C) 60 (D) 80

66. nks jsyos LVs'kuksa ds chp izFke f}rh; Js.kh ds fdjk;ksa dk
vuqikr 4 : 1 rFkk izFke rFkk f}rh; Jsf.k;ksa esa ;k=kk djus
okys ;kf=k;ksa dh la[;k dk vuqikr 1 : 40 gSA ;fn fdlh fnu
dqy fdjk;k ̀  1,100 izkIr gqvk gks] rks blesa izFke Js.kh ds
;kf=k;ksa ls izkIr fdjk;k gksxk
(A) ̀  315 (B) ̀  275

(C) ̀  137.50 (D) ̀  100
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67. Annual incomes of A and B are in the ratio
4:3 and their annual expenses in the ratio
3 : 2. If each saves ` 60,000 at the end of
the year, the annual income of A is

(A) ̀  1,20,000 (B) ̀  1,50,000

(C) ̀  2,40,000 (D) ̀  3,60,000

68. In one glass, milk and water are mixed in
the ratio 3 : 5 and in another glass they
are mixed in the ratio 6 : 1. In what ratio
should the contents of the two glasses be
mixed together so that the new mixture
contains milk and water in the ratio 1:1?

(A) 20 : 7 (B) 8 : 3

(C) 27 : 4 (D) 25 : 9

69. If 
2


  and 

1
sin

3
  then sin equal to:

(A) 
2

3
(B) 

2 2

3

(C) 
2

3
(D) 

3

4
70. The time, in which ̀  2,000 will amount to ̀

2,420  at  10%  per annum  compound
interest, when the interest is compounded
annually, is

(A) 5 years (B) 2 years

(C) 3 years (D) 4 years

71. At what rate percent per annum of com-
pound interest, compounded annually, will
a sum of money become 16 times of itself
in 4 years ?

(A) 400% (B) 200%
(C) 125% (D) 100%

72. If an equilateral triangle is drawn in a
circle, then what will be the ratio of the
diameter of the triangle and the circle?

(A) 2 : 2 (B) 3 : 2

(C) 1: 3 (D) 2 : 3

73. The value of a property depreciates every
year by 10%. The present value of the
property is ` 81 lakhs. Two years ago, its
value was

(A) ` 90 lakhs (B) ` 96 lakhs

(C) ` 100 lakhs (D) ̀  108 lakhs

74. The thread of a kite is 100 m in length. If
the thread is in a straight line and it makes

angle   with its surface such that

8
sin

15
 , find the height of the kite from

the surface.

(A) 
1

53
3

 m (B) 53 m

(C) 54 m (D) 
1

50
2

 m

75. The selling price of an article after giving

two successive discounts of 10% and 5% on
the marked price is ` 171. What is its
marked price ?

(A) ̀  200 (B) ̀   220

(C) ̀  240 (D) ̀  250

76. The elevation angle of the top of the building
and the top of chimney are x and 45º
respectively from the ground surface. The

height of the building is h metre. Find the

height of the chimney?

(A) hcot x h (B) hcot x h
(C) htan x h (D) htan x h

77. Last year, the population of a town was x
and if it increases at the same rate, next
year it will be y. The present population of
the town is

(A) 
2

yx +
(B) 

2

yx −

(C) 
yx

xy

+

2
(D) xy

78. Two successive discounts of 10% and 20%
are equivalent to a single discount of

(A) 30% (B) 28%

(C) 26% (D) 25%

79. Their are 27 diagonals in a polygon then
find out the number of sides of the polygon.

(A) 9 (B) 11

(C) 10 (D) 12

80. Two numbers are in the ratio 5 : 6. If their
LCM is 120, their HCF will be

(A) 12 (B) 10

(C) 8 (D)  4

81. In the given figure PQ = 12 cm. BQ = 8 cm
then find out the length of chord AB.

O 
B 

A 

Q 

P

(A) 10 cm (B) 4 5  cm

(C) 4 cm (D)  18 cm

82. If  2x- 4
3

1
=

x
, the value of 

3

3

1
27 x -

8 x

 
 
 

 is

(A) 91 (B) 234

(C) 243 (D) 342

83. The least among 43
5

1
,

4

1
,

2

1
and 1 is

(A) 
1

2
(B) 3

1

4

(C) 4

1

5
 (D) 1
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67. A vkSj B dh okf"kZd vk; 4 : 3 ds vuqikr esa rFkk muds
of"kZd O;; 3 : 2 ds vuqikr esa gSaA ;fn o"kZ ds vUr esa muesa
ls izR;sd ̀  60,000 dh cpr djs] rks A dh okf"kZd vk; gS
(A) ̀  1,20,000 (B) ̀  1,50,000

(C) ̀  2,40,000 (D) ̀  3,60,000

68. ,d fxykl esa nw/ rFkk ikuh 3 : 5 ds vuqikr esa feyk, x,
gSa rFkk ,d vU; fxykl esa ;s 6 : 1 ds vuqikr esa feyk,
x, gSaA nksuksa fxyklksa ds feJ.kksa dks ijLij fdl vuqikr esa
feyk;k tk,] rkfd u, feJ.k esa nw/ rFkk ikuh 1:1 ds
vuqikr esa gksa \
(A) 20 : 7 (B) 8 : 3

(C) 27 : 4 (D) 25 : 9

69. ;fn 
2


  vkSj 

1
sin

3
  gks] rks sin cjkcj gS&

(A) 
2

3
(B) 

2 2

3
(C) 2/3 (D) 3/4

70. fdrus le; esa ̀  2,000 dh /ujkf'k 10» okf"kZd pØòf¼
C;kt dh nj ls ̀  2,420 gks tcfd C;kt okf"kZd la;ksftr
gksrk gks\
(A) 5 o"kZ (B) 2 o"kZ
(C) 3 o"kZ (D) 4 o"kZ

71. okf"kZd :i ls la;ksftr pØòf¼ C;kt dh fdl okf"kZd nj
ls dksbZ /ujkf'k 4 o"kZ esa Lo;a ds 16 xqus ds cjkcj gks
tk,xhA\
(A) 400% (B) 200%

(C) 125% (D) 100%

72. ;fn ,d òÙk esa ,d leckgq f=kHkqt [khapk tk,] rks f=kHkqt dh
Hkqtk vkSj òÙk ds O;kl esa vuqikr gksxk&

(A) 2 : 2 (B) 3 : 2

(C) 1: 3 (D) 2 : 3

73. fdlh tk;nkn dk ewY; izfr o"kZ 10» fxj tkrk gSA ;fn
tk;nkn dk orZeku ewY; ` 81 yk[k gS rks nks o"kZ igys
bldk ewY; Fkk
(A) ̀  90 yk[k (B) ̀  96 yk[k
(C) ̀  100 yk[k (D) ̀  108 yk[k

74. ,d irax dh Mksjh 100 ehVj yEch gSA ;fn Mksjh ,d ljy
js[kk ds :i esa gks ,oa Hkw&ry ds lkFk dk  dks.k bl izdkj

cukrh gS fd 
8

sin
15

  rks Hkw&ry ls irax dh Å¡pkbZ

D;k gS\

(A) 
1

53
3

 ehVj (B) 53 ehVj

(C) 54 ehVj (D) 
1

50
2

 ehVj

75. vafdr ewY; ij 10» rFkk 5» ds nks Øeokj cV~Vs nsus ds
mijkar fdlh oLrq dk foØ; ewY; ̀  171 gSA bldk vafdr

ewY; fdruk gS\
(A) ̀  200 (B) ̀   220

(C) ̀  240 (D) ̀  250

76. Hkwfery ls ,d Hkou ds 'kh"kZ rFkk mldh fpeuh ds 'kh"kZ ds
mÂ;u dks.k Øe'k% x rFkk 45º rFkk ml Hkou dh Å¡pkbZ
h ehVj gSA fpeuh dh Å¡pkbZ ehVj esa gksxh\

(A) hcot x h (B) hcot x h

(C) htan x h (D) htan x h

77. fiNys o"kZ] fdlh dlcs dh tula[;k x Fkh vkSj ;fn ;g blh
nj ls c<+rh jgh] rks vxys o"kZ ;g y gks tk,xhA dLcs dh
orZeku tual[;k gS

(A) 
2

yx +
(B) 

2

yx −

(C) 
yx

xy

+

2
(D) xy

78. 10» rFkk 20» ds nks Øeokj cV~Vs fdl ,dek=k cV~Vs ds
lerqY; gSa\
(A) 30% (B) 28%

(C) 26% (D) 25%

79. fdlh cgqHkwt esa 27 fod.kZ gS rks Hkqtkvksa dh la[;k Kkr
dhft,A
(A) 9 (B) 11

(C) 10 (D) 12

80. nks la[;k,¡ 5 : 6 ds vuqikr esa gSaA ;fn mudk y-l- 120 gks]
rks mudk e-l- gksxk\
(A) 12 (B) 10

(C) 8 (D)  4

81. fn;s x;s vkÑfr esa PQ = 12 lseh] BQ = 8 lseh rks thok
AB dh yEckbZ Kkr dhft,A

O 
B 

A 

Q 

P

(A) 10 lseh (B) 4 5  lseh

(C) 4 lseh (D)  18 lseh

82. ;fn 2x- 4
3

1
=

x
gks] rks 

3

3

1
27 x -

8 x

 
 
 

 dk eku gksxk

(A) 91 (B) 234

(C) 243 (D) 342

83. 43
5

1
,

4

1
,

2

1
 rFkk 1 esa lcls NksVh la[;k gS

(A) 
1

2
(B) 3

1

4

(C) 4

1

5
 (D) 1
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84. If x + 2
1
=

x
,then the value of 

353

22
2

2

++

+

xx

x
 is

(A) 
11

4
(B) 

2

1

(C) 
4

3
1 (D) 

3

1
2

85. The value of 6 6 2 2sin + cos + 3sin .cos   
is-
(A) 0 (B) 1
(C) 1/2 (D) 1/4

86. The value of    cos A+ B .cos A- B  is-

(A) 2 2sin A sin B (B) 2 2cos A sin B

(C) 2 2cos A.sin B (D) 2 2cos A sin B

87. Two tyres are of same radii ' ' and their

centres are O
1
 and O

2
.They are placed at

distance of .The length of the belt that
should pass through both the types must
be at least-

(A)  2 a r (B) 
a r

2



(C) 2a r (D) 
a r

2



88. Let P is the set of squares and Q is the set
of parallelograms and R is the set of
quadrilaterals and S is the set of rectangles
then which is true.
(1) PQ (2) RP (3) PS (4) SR
(A) 1, 2 and 3 (B) 3 and 4
(C) 1, 3 and 4 (D) 1, 2 and 4

The Histogram, given below, shows the number

of families of a locality having various daily

incomes, as obtained by a survey. Observe the

graph and answer the question based on it.

N
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89. In all, how many families were surveyed ?

(A) 235 (B) 220

(C) 200 (D) 195

90. The number of families,  whose daily

incomes are ` 800 or above, is

(A) 50 (B) 55

(C) 65 (D) 80

91. The number of families, whose daily

incomes are below ` 200, is

(A) 25                         (B) 20

(C) 15                         (D) 10

92. The number of families, whose daily

incomes are between ` 500 and ` 800, is

(A) 35 (B) 40

(C) 45 (D) 55

93. What per cent of families have their daily

incomes less than ` 500 ?

(A) 90 (B) 45

(C) 30 (D) 20

94. Two pipes can fill a cistern separately in

10 hours and 15 hours. They can together

fill the cistern in

(A) 6 hours (B) 7 (hours

(C) 8 hours (D) 9 hours

95. If a + b + c = 13 and ab + bc + ca = 50 then

find the value of (a + b + c) (a2 + b2 + c2) will be:

(A) 897 (B)  650

(C)  8450 (D)  1300

96. 7,77,77,777 ÷ 77 equals

(A) 1111 (B) 101001

(C) 10101 (D) 1010101

97. A man ate 100 grapes in 5 days. Each day,

he ate 6 more grapes than those he ate on

the earlier day. How many grapes did he

eat on the first day ?

(A) 8 (B) 12

(C) 54 (D) 76

98. The area of a circle inscribed in a square is
154 cm2. The area of the square is









=

7

22
 πtake

(A) 216 cm2 (B) 205 cm2

(C)196 cm2 (D) 184 cm2

99. Working efficiencies of P and Q for complet-

ing a piece of work are in the ratio 3 : 4.

The number of days to be taken by them to

complete the work will be in the ratio

(A) 3 : 2 (B) 2 : 3

(C) 3 : 4 (D) 4 : 3

100. If an elevation angle of the sun increases

from 30º to 45º, the length of the shadow of

any pillar decreases by 20 m. What is the

height of that pillar?

(A)  20 3 -1  m (B)  20 3 1  m

(C)  10 3 1  m (D)  10 3 1  m
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84. ;fn x + 2
1
=

x
 gks] rks 

353

22
2

2

++

+

xx

x
 dk eku gksxk

(A) 4/11 (B) 1/2

(C) 
3

1
4

(D) 
1

2
3

85. 6 6 2 2sin cos 3sin .cos   dk eku gksxk&
(A) 0 (B) 1

(C) 1/2 (D) 1/4

86.    cos A+ B .cos A- B  cjkcj gS&

(A) 2 2sin A sin B (B) 2 2cos A sin B

(C) 2 2cos A.sin B (D) 2 2cos A sin B

87. leku f=kT;k ' '  ds nks òÙkkdkj ifg;s ftudk dsfUnz;
fu;a=kd O

1
 rFkk O

2
 ijLij leku nwjh  ij fLFkr gSA nksuksa

ifg;ksa ls gksdj tkus okyh csYV dh de ls de yEckbZ gksxh&

(A)  2 a r (B) 
a r

2



(C) 2a r (D) 
a r

2



88. ekuk P oxksZa dk lewg gS rFkk Q lekukarj prqHkqZt dk lewg
gS] R prqHkqtksa dk lewg rFkk S vk;rksa dk lewg gSA fuEu
esa ls dkSu lgh gS\
(A) PQ (B) RP (C) PS (D) SR

(A) 1, 2 vkSj 3 (B) 3 vkSj 4
(C) 1, 3 vkSj 4 (D) 1, 2 vkSj 4

uhps fn;k x;k vk;r fp=k ,d losZ{k.k }kjk ik;s x;s fdlh
cLrh ds fofHkUUk nSfud vk; okys ifjokjksa dh la[;k dks
iznf'kZr djrk gSA xzkWiQ dks è;ku iwoZd nsf[k, rFkk bl ij
vk/kfjr iz'u la[;k ds mÙkj nhft,A

if
jo
kjk
sa d

h 
la[

;k
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89. dqy feykdj fdrus ifjokjksa dk losZ{k.k fd;k x;k \
(A) 235 (B) 220

(C) 200 (D) 195

90. mu ifjokjksa] ftudh nSfud vk; ̀  800 vFkok vf/d gS] dh
la[;k gS
(A) 50 (B) 55

(C) 65 (D) 80

91. mu ifjokjksa] ftudh nSfud vk; ̀  200 ls de gks] dh la[;k
gS
(A) 25  (B) 20

(C) 15  (D) 10

92. mu ifjokjksa] ftudh nSfud vk; ` 500 rFkk ` 800, ds
eè; gS] dh la[;k gS
(A) 35 (B) 40

(C) 45 (D) 55

93. fdrus izfr'kr ifjokjksa dh nSfud vk; ` 500 ls de gS\
(A) 90 (B) 45

(C) 30 (D) 20

94. nks uy fdlh gkSt dks vyx&vyx 10 ?kaVs rFkk 15 ?kaVs esa
iwjk Hkj ldrs gSaA os feydj gkSt dks fdrus le; esa iwjk
Hkjsaxs\

(A) 6 ?kaVs (B) 7 ?kaVs

(C) 8 ?kaVs (D) 9 ?kaVs

95. ;fn a + b + c = 13 vkSj ab + bc + ca = 50 gks rks
(a + b + c) (a2 + b2 + c2) dk eku gksxk
(A) 897 (B)  650

(C)  8450 (D)  1300

96. 7, 77, 77, 777 ÷ 77 cjkcj gS
(A) 1111 (B) 101001

(C) 10101 (D) 1010101

97. fdlh vkneh us 100 vaxwj 5 fnu esa [kk,A mlus izR;sd fnu
mlls igys fnu dh rqyuk esa 6 vaxwj vf/d [kk,A mlus
igys fnu fdrus vaxwj [kk,\
(A) 8 (B) 12

(C) 54 (D) 76

98. ,d oxZ ds vUròZÙk dk {ks=kiQy 154 lsehú2 gSA oxZ dk

{ks=kiQy gksxk (
7

22
π = yhft,)

(A) 216 lsehú2 (B) 205 lsehú2

(C)196 lsehú2 (D) 184 lsehú2

99. fdlh dk;Z dks iwjk djus ds fy, P rFkk Q dh dk;Z
dq'kyrk,¡ 3 : 4 ds vuqikr esa gSaA muds }kjk dk;Z dks iwjk
djus esa fy, tkus okys fnuksa dh la[;kvksa dk vuqikr gksxkA
(A) 3 : 2 (B) 2 : 3

(C) 3 : 4 (D) 4 : 3

100. ;fn lw;Z dk mUurka'k dks.k 30º ls 45º gks tk, rks fdlh
[kEHks dh Nk;k dh yEckbZ 20 ehVj de gks tkrh gSA rnuqlkj
ml [kEHks dh Å¡pkbZ fdruh gS\

(A)  20 3 -1  ehVj (B)  20 3 1  ehVj

(C)  10 3 1  ehVj (D)  10 3 1  ehVj
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101. Who among the following was the first

Governor General of India?

(A) Lord Amherst

(B) Lord William Bentinck

(C) Sir Charles Metcalfe

(D) Robert Clive

102. In which one of the following sessions was

the Indian National Congress split             into

Moderates and Extremists ?

(A) Nagpur (B) Allahabad

(C) Surat (D) Calcutta

103. How many members participated during the

first session of the India National Congress

in 1885 at Bombay?

(A) 72 (B) 172

(C) 85 (D) 124

104. Which British Viceroy is associated with

the partition of Bengal ?

(A) Lord Canning (B) Lord Curzon

(C) Lord Hardinge (D) Lord Wellesley

105. Which one of the following was not a result

of British Colonial rule in India?

(A) Ruin of India agriculture

(B) Ruin of India Industries

(C) Ruin of India trade

(D) Ruin of India feudalism

106. The Razmnama is a Persian translation of the

(A) Mahabharata (B) Ramayana

(C) Panchatantra (D) Kathasaritsagara

107. Match List –I (Organization) to List-II

(Founder) and select the correct answer

using the codes given below the Lists:

List –I List-II

(organization) (Founder)

(1) East India Association (A) Dadabhai Naoroji

(2) Satya Shodhak Samaj (B) Devandra Nath

     Tagore

(3) Servants of Indian Society(C) Gopla Krishna

     Gokhale

(4) Tattvabodhini Sabha (D) Jyotirao Govindrao

Phule

Code :

A B C D
(A) 1 2 3 4
(B) 3 2 1 4
(C) 1 4 3 2

(D) 3 4 1 2

Part - III (General Awareness)

108. The great emperor Kanishka belonged to

which dynasty?

(A) Maurya (B) Vardhana

(C) Kushan (D) Gupta

109. What did the Hunter Commission appointed

by the Viceroy probe?

(A) Bardoli Satyagraha

(B) Khilafat Agitation

(C) Jallanwala Bagh tragedy

(D) Chauri Chaura incident

110. Who among the following were contempo-

raries of Kanishka?

(A) Kamban, Banabhatta, Asvagosha

(B) Nagarjuna, Asvagosha, Vasumitra

(C) Asvagosha, Kalidasa, Banahatta

(D) Kalidasa, Kamban, Vasumitra

111. Which one of the following is the correct

statement?

(A) The Comptroller and Auditor General of
India holds office during the pleasure
of the President of India

(B) The Comptroller and Auditor General of
India is ineligible for any other office
under the Government of India or any
State Government after he has ceased
to hold his office

(C) The salary and allowances of the
Comptroller and Auditor General of
India are determined by the Ministry of
Finance

(D) The Comptroller and Auditor General of
India submits reports relating to the
accounts of the Union to the Speaker of
the Lok Sabha

112. The Vice President of India is elected by

(A) the members of the Parliament

(B) the members of the Rajya Sabha

(C) the elected members of the Parliament

(D) the members of the Parliament and
State Legislatures

113. When was the comprehensive reorganisa-

tion of Indian States completed in

accordance with the recommendations of

States Reorganisation Commission?

(A) 1953 (B) 1956

(C) 1960 (D) 1966
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Part - III (lkekU; tkudkjh)

101. fuEufyf[kr esa ls dkSu Hkkjr dk izFke xouZj tujy Fkk\

(A) ykWMZ ,segLVZ

(B) ykWMZ fofy;e csfUVd

(C) lj pkYlZ esVdkiQ

(D) jkWcVZ Dykbo

102. fuEufyf[kr esa ls fdl ,d vf/os'ku esa Hkkjrh; jk"Vªh;
dkaxzsl dk uje ny ,oa xje ny esa foHkktu gqvk Fkk\

(A) ukxiqj (B) bykgkckn

(C) lwjr (D) dydÙkk

103. 1885 esa cacbZ esa Hkkjrh; jk"Vªh; dkaxzsl ds igys vf/os'ku
esa fdrus lnL;ksa us Hkkx fy;k Fkk\
(A) 72 (B) 172

(C) 85 (D) 124

104. caxky ds c¡Vokjs esa fdl fczfV'k okbljk; dk lEcU/ gS\

(A) ykWMZ dsfuax (B) ykWMZ dtZu

(C) ykWMZ gkWfMZax (D) ykMZ osystyh

105. fuEufyf[kr esa ls dkSu lk ,d] Hkkjr esa fczfV'k mifuos'kh
'kklu dk ifj.kke ugha Fkk\

(A) Hkkjrh; Ñf"k dk fouk'k

(B) Hkkjrh; m|ksxksa dk fouk'k

(C) Hkkjrh; O;kikj dk fouk'k

(D) Hkkjrh; lkeUrokn dk fouk'k

106. jTeukek fuEufyf[kr esa ls fdldk iQkjlh vuqokn gS\

(A) egkHkkjr (B) jkek;.k

(C) iapra=k (D) dFkklfjRlkxj

107. lwph&I (laLFkk) dks lwph&II (laLFkkid) ds lkFk lqesfyr
dhft, vkSj lwfp;ksa ds uhps fn, x, dwV dk iz;ksx djrs gq,
lgh mÙkj pqfu,%

lwph –I lwph-II

(laLFkk) (laLFkkid)

(1) bZLV bafM;k ,lksfl;s'ku (A) nknkHkkbZ ukSjksth

(2) lR;'kks/d lekt (B) nsosUnzukFk VSxksj

(3) ljosaV~l vkWiQ bafM;k lkslkbVh (C) xksiky Ñ".k
xks[kys

(4) rRocksf/uh lHkk (D) T;ksfrjko xksfoUnjko
iqQys

dwV :

A B C D
(A) 1 2 3 4
(B) 3 2 1 4
(C) 1 4 3 2
(D) 3 4 1 2

108. egku lezkV dfu"d dkSu&ls oa'k ls Fks\

(A) ekS;Z (B) o/Zu

(C) dq"kk.k (D) xqIr

109. okbljk; }kjk fu;qDr fd, x, gaVj deh'ku us fuEufyf[kr

esa ls fdlds fo"k; esa rgdhdkr dh Fkh\

(A) ckjMksyh lR;kxzg (B) f[kykiQr vkanksyu

(C) tfy;k¡okyk ckx =kklnh (D) pkSjh pkSjk dk.M

110. fuEufyf[kr esa ls dfu"d ds ledkyhu dkSu Fks\

(A) dacu] ck.kHkV~V v'o?kks"k

(B) ukxktqZu] v'o?kks"k] oklqfe=k

(C) v'o?kks"k] dkfynkl]ck.kHkV~V

(D) dkfynkl] dacu] oklqfe=k

111. fuEufyf[kr dFkuksa esa ls dkSu&lk ,d lgh gS\

(A) Hkkjr dk fu;a=kd&egkys[kkijh{kd] Hkkjr ds jk"Vªifr

ds izlkni;Zar in /kj.k djrk gS

(B) Hkkjr dk fu;a=kd&egkys[kkijh{kd vius in ij u jgus

ds i'pkr~ Hkkjr ljdkj ds ;k fdlh jkT; dh ljdkj

ds v/hu fdlh vkSj in dk ik=k ugha gksrk

(C) Hkkjr ds fu;a=kd&egkys[kkijh{kd ds osru rFkk HkÙks

foÙk ea=kky; }kjk fu/kZfjr fd, tkrs gSa

(D) Hkkjr ds fu;a=kd&egkys[kkijh{kd la?k ds ys[kk dh

fjiksVZ yksd lHkk vè;{k dks izLrqr djrk gS

112. Hkkjr ds mijk"Vªifr dk pquko fd;k tkrk gS

(A) laln~ ds lnL;ksa }kjk

(B) jkT; lHkk ds lnL;ksa }kjk

(C) laln~ ds fuokZfpr lnL;ksa }kjk

(D) laln~ vkSj jkT; fo/ku&e.Myksa ds lnL;ksa }kjk

113. jkT; iquxZBu vk;ksx dh fliQkfj'kksa ds vuqlkj Hkkjrh; jkT;ksa

dk O;kid iquxZBu dc iwjk fd;k x;k Fkk\

(A) 1953 (B) 1956

(C) 1960 (D) 1966



 Centres at: � MUKHERJEE NAGAR  � MUNIRKA  �UTTAM NAGAR  � DILSHAD GARDEN � ROHINI  � NARELA

=============================================================

Ph: 011-27607854, 08860-333-333 15

114. Consider the following Vice-Presidents of

India :

1. V. V. Giri 2. M. Hidayatullah

3. B. D. Jatti 4. G. S. Pathak

Which one of the following is the correct

chronology of their tenures?

(A) 1- 4 – 3 - 2 (B) 2 – 1 – 3 - 4

(C) 3 – 2 – 1 - 4 (D) 4 – 1 – 3 - 2

115. Who among the following had moved the

objectives resolution it which formed the

basis of the Preamble of the Constitution

of India in the Constituent Assembly on

December 13, 1946?

(A) Dr. B. R. Ambedkar

(B) Dr. Rajendra Prasad

(C) Sardar Vallabhbhai Patel

(D) Pt. Jawaharlal Nehru

116. Who among the following recommends to

the Parliament for the abolition of the

Legislative Council in a State?

(A) The President of India

(B) The Governor of the concerned State

(C) The Legislative  Council of the

concerned-State —

(D) The Legislative Assembly of the

concerned State

117. Which one of the following rivers flows into

the Arabian Sea ?

(A) Indravati

(B) Godavari

(C) Kaveri

(D) Narmada

118. Which one of the following has geographical

position of 0° latitude and 0° longitude ?

(A) In the South Atlantic Ocean

(B) In the Mediterranean Sea

(C) In Ghana, a West African country

(D) At Greenwich Observatory in England

119. Which one of the following is the greatest

circle ?

(A) Arctic Circle

(B) Equator

(C) Tropic of Cancer

(D) Tropic of Capricorn

120. Where was the first Cotton mill in India

established ?

(A) Surat

(B) Bombay (now Mumbai)

(C) Ahmedabad

(D) Coimbatore

121. In which one of the following is higher

percentage of carbon found?

(A) Lignite coal (B) Peat coal

(C) Bituminous coal (D) Anthracite coal

122. Match the dams and the rivers across

which those have been constructed.

Dam River

(a) Gandhi Sagar 1. Bhagirathi

(b) Jayakwadi 2. Krishna

(c) Nagarjuna 3. Godavari

(d) Tehri 4.Chambal

a     b    c    d

(A)   4    3    2    1

(B)   3    1    4    2

(C)   2    4    3    1

(D)   4    2    1    3

123. In which one of the following islands of

India is an active volcano found?

(A) Car Nicobar Island

(B) Nancowry Island

(C) Barren Island

(D) Maya Bunder Island

124. Which one of the following is a global

biodiversity hotspot in India ?

(A) Western Ghats

(B) Western Himalayas

(C) Eastern Ghats

(D) Northern Himalayas

125. Which one of the following is correct ?

Great Bear is a

(A) galaxy. (B) planet.

(C) star. (D) constellation.

126. Mist is a result of which one of the following?

(A) Condensation (B) Evaporation

(C) Sublimation (D) Saturation

127. What should a person on a freely rotating

turn table do to decrease his (angular)

speed?

(A) Bring his hands together

(B) Raise his hands up

(C) Spread his hands outwards

(D) Sit down with raised hands

128. Gunpowder consists of a mixture of

(A) sand and TNT

(B) TNT and charcoal

(C) nitre, sulphur and charcoal

(D) sulphur, sand and charcoal
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114. Hkkjr ds fuEufyf[kr mijk"Vªifr;ksa ij fopkj dhft,%

1. ohú ohú fxjh

2. ,eú fgnk;rqYyk

3. chú Mhú tÙkh

4. thú ,lú ikBd

fuEufyf[kr esa ls dkSu&lk ,d muds dk;Zdky dk lgh
dkykuqØe gS\

(A) 1– 4 – 3 – 2 (B) 2 – 1 – 3 – 4

(C) 3 – 2 – 1 – 4 (D) 4 – 1 – 3 – 2

115. fuEufyf[kr esa ls fdlus 13 fnlEcj] 1946 dks lafo/ku lHkk
esa mís';&laYi izLrkfor fd;k Fkk] tks Hkkjr ds lafo/ku dh
mísf'kdk (izh,Ecqy) dk vk/kj cuk\

(A) MkWú chú vkjú vEcsMdj

(B) MkWú jktsUnz izlkn

(C) ljnkj cYyHkkbZ iVsy

(D) iú tokgjyky usg:

116. fuEufyf[kr esa ls dkSu fdlh jkT; esa fo/ku ifj"kn~ ds
mRlknu ds fy, laln dks vuq'kalk djrk gS\

(A) Hkkjr dk jk"Vªifr

(B) lEcfU/r jkT; dk jkT;iky

(C) lEcfU/r jkT; dh fo/ku ifj"kn~

(D) lEcfU/r jkT; dh fo/ku lHkk

117. fuEufyf[kr esa ls dkSu&lh ,d unh vjc lkxj ls tk feyrh
gS\

(A) banzkorh (B) xksnkojh

(C) dkosjh (D) ueZnk

118. fuEufyf[kr esa ls fdlesa 0° v{kka'k vkSj 0° ns'kkarj dh
HkkSxksfyd fLFkfr gS\

(A) nf{k.kh vU/ egklkxj esa

(B) Hkweè; lkxj esa

(C) if'peh vizQhdh ns'k] ?kkuk esa

(D) baXyS.M esa xzhufop os/'kkyk ij

119. fuEufyf[kr esa lcls cM+k òÙk gS

(A) vkfDVZd òÙk (B) fo"kqor~ òr

(C) ddZ&js[kk (D) edj js[kk

120. Hkkjr dk lcls igyk dkWVu fey (diMs+ dk fey)
fuEufyf[kr esa ls fdl 'kgj esa LFkkfir fd;k x;k Fkk\

(A) lwjr (B) cacbZ (vc eqacbZ)

(C) vgenkckn (D) dks;EcVwj

121. fuEufyf[kr esa ls fdl ,d esa dkcZu dh mPprj izfr'kr
ek=kk ik;h tkrh gS\

(A) fyxzkbV dks;yk (B) ihV dks;yk

(C) fcVqfeuh dks;yk (D) ,sUFkzklkbV dks;yk

122. ck¡/ksa vkSj mu ufn;ksa dk esy feykb, ftu ij os cuk, x;s
gSa

ck¡/ unh

(a) xk¡/h lkxj 1. HkkxhjFkh

(b) t;dokM+h 2. Ñ".kk

(c) ukxktqZu 3. xksnkojh

(d) Vsgjh 4.pEcy
a     b    c    d

(A)   4    3    2    1

(B)   3    1    4    2

(C)   2    4    3    1

(D)   4    2    1    3

123. fuEufyf[kr eas ls fdl ,d Hkkjrh; }hi esa ,d lfØ;
Tokykeq[kh ik;k x;k gS\

(A) dkj fudksckj }hi (B) ukUdksojh }hi

(C) cSju }hi (D) ek;kcUnj }hi

124. Hkkjr esa oSf'od tSo&fofo/rk dk izeq[k LFky fuEufyf[kr
esa ls dkSulk gS\

(A) if'peh ?kkV (B) if'peh fgeky;

(C) iwohZ ?kkV (D) mÙkjh fgeky;

125. fuEufyf[kr eas dkSulk lgh gS\

lIrf"kZ

(A) eankfduh gSA (B) xzg gSA

(C) rkjk gSA (D) rkjke.My gSA

126. fuEufyf[kr ea ls fdl ,d ds dkj.k dqgklk gksrk gS\

(A) la?kuu (B) ok"ihdj.k

(C) mQèoZikru (D) lar̀fIr

127. fdlh O;fDr dks eqDr :i ls ?kw.kZu dj jgs ?kw.khZ eap ij
viuh (dks.kh;) pky de djus ds fy, D;k djuk pkfg,\

(A) vius gkFk ,dlkFk feyk ys

(B) vius gkFk mQij mBk ys

(C) vius gkFk ckgj dh vksj iQSyk ns

(D) gkFk mQij  mBkdj cSB tk,

128. ck:n ,d feJ.k gksrk gS

(A) ckyw vkSj TNT dk

(B) TNT vkSj pLdksy dk

(C) ukbVj] lYiQj vkSj pkjdksy dk

(D) lYiQj] ckyw vkSj pkjdksy dk
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129. What is an organisation’s introductory web

page called ?

(A) Portal (B) Vortal

(C) Homepage (D) Web site

130. Which organ of the body never rests?

(A) Eyes (B) Pancreas

(C) Liver (D) Heart

131. What is the most commonly used substance

in fluorescent tubes ?

(A) Sodium oxide and argon

(B) Sodium vapour and neon

(C) Mercury vapour and argon

(D) Mercury oxide and neon

132. The phenomenon of mirage occurs due to

which one of the following ?

(A) Polarization of light

(B) Dispersion of light

(C) Diffraction of light

(D) Total internal reflection of light

133. Meghnad Saha is known for his

contribution in which one of the following

fields ?

(A) Physics

(B) Medical Science

(C) Environmental Science

(D) History

134. Who invented the video-tape ?

(A) Richard James

(B) Charles Ginsbog

(C) P. T. Famsworth

(D) Georges de Mestral

135. What is the chromosome number in a

human ovum ?

(A) 24 (B) 46

(C) 48 (D) None of these

136. Which one of the inflowing is correct?

Butter is

(A) a super cooled oil (B) an emulsion

(C) a molecular solid (D) None of the above

137. Which one of the following substances is

used in the manufacture of safety matches?

(A) Red phosphorus

(B) White phosphorus

(C) Phosphorus trioxide (P
2
O

3
)

(D) Black phosphorus

138. The Law of Demand states that when

(A) income rises, demand rises

(B) price rises, demand rises

(C) price falls, demand rises

(D) income  and  price rise, demand rises

139. Imports and Exports into and from the

country  are   allowed   to   have   their

impact on economic activities in a/an

(A) closed economy

(B) open economy

(C) agricultural economy

(D) industrial economy

140. Production function refers to

(A) relationship between land and labour

(B) relationship between physical inputs and

physical outputs

(C) relationship between demand and supply

(D) relationship between capital and

organization

141. Jhoolan Goswami is associated with

(A) Football (B) Cricket

(C) Badminton (D) Archery
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129. fdlh laxBu ds ̂ bUVªksMDVjh osc ist* dks fuEufyf[kr esa ls

D;k dgk tkrk gSA

(A) iksVZy (B) oksVZy

(C) gkseist (D) osclkbV

130. fuEufyf[kr esa ls 'kjhj dk og vax dkSu lk gS tks dHkh Hkh

foJke ugha djrk gSA\

(A) vk¡[ksa (B) vXU;k'k;

(C) ;Ñr (D) àn; (g̀n~)

131. fuEufyf[kr eas ls og inkFkZ dkSu lk gS tks izk;% ÝyksjlsaV

V;wcksa esa bLrseky fd;k tkrk gS\

(A) lksfM;e vkWDlkbM rFkk vkxZu

(B) lksfM;e ok"i rFkk fuvkWu

(C) ikjn ok"i rFkk vkxZu

(D) ikjn vkWDlkbM rFkk fuvkWu

132. fuEufyf[kr esa ls fdl ,d ds dkj.k ejhfpdk dh ifj?kVuk

gksrh gS\

(A) izdk'k dk /zqohdj.k

(B) izdk'k dk fo{ksi.k

(C) izdk'k dk foorZu

(D) izdk'k dk laiw.kZ vkarfjd ijkorZu

133. es?kukn lkgk fuEufyf[kr esa ls fdl ,d {ks=k esa vius

;ksxnku ds fy, tkus tkrs gSa\

(A) HkkSfrdh (B) fpfdRlk foKku

(C) i;kZoj.k foKku (D) bfrgkl

134. ^ohfM;ks Vsi* dk vfo"dkj fd;k Fkk\

(A) fjpMZ tsEl us (B) pkYlZ fxUlcxZ us

(C) ihú Vhú iQULoFkZ us (D) tktsZl n esLVªky us

135. ekuo fMEc esa xq.klw=kksa dh la[;k gksrh gS

(A) 24 (B) 46

(C) 48 (D) buesa ls dksbZ ugha

136. fuEufyf[kr esa ls dkSulk lgh gS\

eD[ku

(A) vfr'khfrr rsy gSA

(B) ik;l gSA

(C) vkf.od Bksl gSA

(D) mi;qZDRk esa ls dksbZ ugha

137. fn;klykbZ ds fuekZ.k esa fuEufyf[kr esa ls fdl ,d inkFkZ dk

mi;ksx gksrk gS\

(A) yky iQkWLiQksjl

(B) liQsn iQkWLiQksjl

(C) iQkWLiQksjl VªkbvkDlkbM  (P
2
O

3
)

(D) Ñ".k iQkWLiQksjl

138. ^ek¡x fu;e* ds vuqlkj

(A) tc vk; esa òf¼ gksrh gS rc ek¡x c<+ tkrh gS

(B) tc dher c<+rh gS rc ek¡x c<+ tkrh gS

(C) tc dher fxjrh gS rc ek¡x c<+ tkrh gS

(D) tc vk; vkSj dher c<+ tkrh gSa rc ek¡x c<+ tkrh gS

139. tc vk;kr vkSj fu;kZr }kjk fdlh ns'k esa vkfFkZd xfrfof/

;ksa dks izHkkfor djus fn;k tkrk gS rks ml vFkZO;oLFkk dks

D;k dgrs gSa\

(A) can vFkZO;oLFkk

(B) [kqyh vFkZO;oLFkk

(C) Ñf"k vFkZO;oLFkk

(D) vkS|ksfxd vFkZO;oLFkk

140. mRiknu iQyu dk vfHkizk; gS

(A) Hkwfe vkSj Je ds chp lEcU/

(B) HkkSfrd vkxr rFkk HkkSfrd fuxZr ds chp lEcU/

(C) ek¡x vkSj iwfrZ ds chp lEcU/

(D) iw¡th vkSj laxBu ds chp lEcU/

141. >wyu xksLokeh fdlls lEcfU/r gSa\

(A) iqQVckWy ls (B) fØdsV ls

(C) cSMfeaVu ls (D) rhjankth ls



 Centres at: � MUKHERJEE NAGAR  � MUNIRKA  �UTTAM NAGAR  � DILSHAD GARDEN � ROHINI  � NARELA

=============================================================

Ph: 011-27607854, 08860-333-333 19

142. Corporation tax is levied by the Union and

is appropriated by

(A) the States

(B) the Union

(C) both States and the Union

(D) None of the above

143. The cash reserve ratio, is usually

determined by

(A) the free play of market forces

(B) the Commercial Banks

(C) the Central Banks

(D) the Central Government

144. The tax which yields largest revenue to the

State Government is

(A) Excise duty (B) Sales tax

(C) Customs duties (D) Corporation tax

145.  Malabar is an annual naval exercise of

..........

(A) France and India

(B) Japan and India

(C) US and India

(D) China and India

146. Where was the 20th ASEAN summit held

on ?

(A) North Koria (B) Cambodia

(C) Mynmar (D) China

147. Provision of Urban Amendities in Rural

Areas (PURA) provide the .... organized by

Ministry of Rural Development ?

(A) Urban Infrastructure
(B) Rura Infrastructure
(C) School Education
(D) Higher education

148. Name of the the newly-elected World Bank

president is .........

(A) Nancy Powell

(B) Jim Yong Kim

(C) Pal Schmitt

(D) Mohamad Waheeduddin

149. Who wrote the famous book 'The Man

Within My Head'?

(A)  Chetan Bhagat (B) P.A. Sangama

(C) Sonia Gandhi (D) Pico Iyer

150. Name of the Indian tribe which is still living

on trees?

(A) Jenu Kuruba (B) Khasi

(C) Paharia (D) Oangas

ROUGH WORK
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142. fuxe dj la?k }kjk yxk;k tkrk gS vkSj mldk fofu;kstu
fd;k tkrk gS
(A) jkT;ksa }kjk
(B) la?k }kjk
(C) nksuksa jkT;ksa rFkk la?k }kjk
(D) mi;qZDr esa ls dksbZ ugha

143. udnh fjtoZ vuqikr dk fu/kZj.k vkerkSj ij fuEufyf[kr esa
ls fdlds }kjk fd;k tkrk gS\
(A) cktkj 'kfDr;ksa ds eqDr [ksy }kjk
(B) dkWef'kZ;y cSadksa }kjk
(C) lsaVªy cSadksa }kjk
(D) dsanzh; ljdkj }kjk

144. jkT; ljdkj dks lcls vf/d jktLo fnyokus okyk dj gS

(A) mRikn 'kqYd (B) fcØh dj
(C) lhek 'kqYd (D) uxj fuxe

145. ekykokj ------------- dk ,d okf"kZd ukSlsuk vH;kl gS&
(A) Úkal vkSj Hkkjr (B) tkiku vkSj Hkkjr
(C) ;w-,l- vkSj Hkkjr (D) phu vkSj Hkkjr

146. 20oka ASEAN lEesyu dgk¡ vk;ksftr gqvk Fkk\
(A) mÙkj dksfj;k (B) dEcksfM;k
(C) E;kekaj (D) phu

147. xzkeh.k fodkl ea=kky; }kjk lefFkZr ̂ iwjk* (PURA) ;kstuk
vFkkZr~ ^'kgjh lqfo/kvksa dh xzkeh.k {ks=kksa rd igq¡p* ;kstuk
dk laca/ gS&
(A) 'kgjh vk/kjHkwr volajpuk

(B) xzkeh.k vk/kjHkwr volapjuk
(C) Ldwyh f'k{kk

(D) mPp f'k{kk
148. fo'o cSad ds uo&fu;qDr vè;{k dk uke -------- gS&

(A) uSalh ikWosy (B) the ;kax fde
(C) iky LdehV (D) eqgEen oghmíhu

149. izfl¼ iqLrd "The Man Within My Head" dks
fdlus fy[kk gS\
(A) psru Hkxr (B) ih- ,- laxek
(C) lksfu;k xk¡/h (D) fidks vÕ;j

150. mu Hkkjrh; tutkfr dk uke crk,a tks vHkh Hkh ò{kksa
(taxyksa) ij jgrs gSa\
(A) tsuq dq:ck (B) [kklh
(C) igkfM+;k (D) vksaXl

ROUGH WORK
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Directions (151-155): groups of four words are

given. In each group, one word is correctly spelt.

Find the correctly spelt word and mark your

answer in the Answer-Sheet.

151. (A) contemptuous (B) spontanuous

(C) erroneuous (D) gorgeouous

152. (A) limousene (B) paradigm

(C) hysterea (D) hypocricy

153. (A) Etiquettue (B) Brunette

(C) Bonquette (D) Anttique

154. (A) perennial (B) perodical

(C) panctual (D) palacial

155. (A) hazadous (B) percieve

(C) incredible (D) knowledgable

Directions (156 - 159): In the following

questions a part of the sentence is lined. Below

are given alternatives underlined part at A,B,

and C which improve the sentence. Choose the

at alternative. In case “no improve is needed,

your answer is D

156. To rest on one’s laurels

(A) to cease to strive for further glory

(B) to be lazy

(C) to be proud of one’s victory

(D)  to die

157. To be no spring chicken

(A) to be brave

(B) to be honest

(C) to be no longer young

(D) to be childish

158. Under someone’s wing

(A) to work under someone

(B) to be under someone’s protection

(C) to be alert

(D) to be in the army

159. Fabian policy

(A) dictatorial policy

(B) democratic policy

(C) systematic policy

(D) policy of cautious persistence

160. She was on the horns of a dilemma as she

had either to leave her job or divorce her

husband.

(A) in nervous condition

(B) in terrible mood

(C) in difficult situation

(D) in suspense

Part - IV (English Comprehension)

Directions (161-165): In the following

questions, sentences are given with blanks to

be filled in with an appropriate and suitable

word. Four alternatives are suggested for each

question. Choose the correct alternative out

of the four i.e. A, B, C, D.

161. He knowns French and German __________

Russian.

(A) beside (B) besides

(C) aside (D) except

162. His reputation has been ______ by his foolish

acts.

(A) increased (B) decreased

(C) retrieved (D) tainted

163. Meditation is ______ way to calm your

nerves.

(A) a best (B) one of the best

(C) the best (D) an best

164. The Prime Minister of England called

______ the President of America.

(A) in (B) out

(C) on (D) at

165. She teaches well _____ ?

(A) Isn't it (B) Doesn't she

(C) Does she (D) Didn't she

Directions (166-170): Each of the following items
consists of a phrase in the stem of the item
followed by four options (A), (B), (C) and (D). You
have to identify from the given options as to
which one of them correctly describes the phrase.

166. Pertaining to cattle

(A) Canine (B) Feline

(C) Bovine (D) Verminous

167. To look at someone in an angry or

threatening way

(A) Glower (B) Gnaw

(C) Gnash (D) Grind

 168. Still existing and known :

(A) Extent (B) Extant

(C) Eternal (D) Immanent

169. Strong dislike between two persons

(A) aversion (B) antipathy

(C) apathy (D) despair

170. A person who is very selective, disgusted

easily, and is hard to please.

(A) misanthrope (B) fastidious

(C) selector (D) ambiguous



 Centres at: � MUKHERJEE NAGAR  � MUNIRKA  �UTTAM NAGAR  � DILSHAD GARDEN � ROHINI  � NARELA

=============================================================

Ph: 011-27607854, 08860-333-333 22

Directions : (171-180) In the following passage
some of the words have been left out. First
read the passage over and try to understand
what it is about. Then fill in the blanks with
the help of the alternatives given. Mark your
answer in the Answer Sheet.

The educational institutions established by
the British and the Christian missionaries were
primarily designed to propagate and promote the
English language and the western 171. Their
aim was also to produce such 172 who could man
the lower levels of 173 British administrative hi-
erarchy and remain ever loyal 174 the British
rulers. The British educational policy 175 with
eminent success in the matter of 176 its objec-
tives. The majority of people 177 middle classes
who went to these educational 178. did acquire
some knowledge and skill which 179 sufficient
enough to work as babus in these 180 offices.

171. (A) range (B) trade

(C) culture (D) pride

172. (A) Indians (B) North-Indians

(C) South-Indians (D) Rajputs

173. (A) the (B) a

(C) an (D) now

174. (A) of (B) with

(C) for (D) to

175. (A) served (B) met

(C) planned (D) started

176. (A) performing (B) conducting

(C) achieving (D) changing

177. (A) with (B) in

(C) of (D) from

178. (A) departments (B) institutions

(C) concerns (D) projects

179. (A) was (B) had

(C) were (D) have

180. (A) rural (B) revenue

(C) private (D) government

Directions (181-185): Each of the following

items consists of a sentence followed by four

words or group of words. Select the antonym of

the word (occurring in the sentence in capital

letters) as per the context.

181. CURTAIL

(A) Lengthen (B) Shorten

(C) Entail (D) Close

182. DENSE

(A) Scarce (B) Slim

(C) Sparse (D) Lean

183. IN TOTO

(A) Bluntly (B) Partially

(C) Entirely (D) Strongly

184. FLEETING

(A) Glossy (B) Perpetual

(C) Aspiring (D) Sufficient

185. OSTRACISE

(A) Amuse (B) Welcome

(C) Entertain (D) Host

Directions (186-190): Each of the following

items consists of a sentence followed by four

words or group of words. Select the synonym

of the word (occurring in the sentence in capital

letters) as per the context.

186. ENVISAGED

(A) Ensured (B) Idealized

(C) Contemplated (D) Imagined

187. CLANDESTINE

(A) Awkward (B) Inconsistent

(C) Secret (D) Ugly

188. RESENTMENT

(A) Annoyance (B) Dispatch

(C) Disagreement (D) Dismissal

189. SURREPTITIOUSLY

(A) Calmly (B) Secretly

(C) Suggestively (D) Quitely

190. FOREBODE

(A) Alarm (B) Foretell

(C) Failure (D) Forefront

Directions: [Q. Nos.191-195] Out of four

alternatives, choose the one which will replace

the word given in etalic in meaning. If the

sentence is correct mark ‘D’ in the answer-

sheet.

191. The reason why he wrote the letter was

because he could not contact him over the

phone.

(A) why he wrote the letter was since

(B) for which he wrote the letter because

(C) why he wrote the letter was that

(D) No improvement

192. I would like to avail a fifteen day holiday

this summer.

(A) to avail of

(B) to avail myself of

(C) to avail youself

(D) No improvement



 Centres at: � MUKHERJEE NAGAR  � MUNIRKA  �UTTAM NAGAR  � DILSHAD GARDEN � ROHINI  � NARELA

=============================================================

Ph: 011-27607854, 08860-333-333 23

193. It was a week since the exam began.

(A) It was a week

(B) It has been a week

(C) It had been a week

(D) No improvement

194. An overdose of any medicine is enough fatal

to a plant as to a man.

(A) too fatal

(B) so fatal

(C) as fatal

(D) No improvement

195. There is nothing quite miserable than

illiteracy in youth.

(A) as miserable

(B) very miserable

(C) more miserable

(D) No improvement

Directions: (Q. No. 196-200): Some of the

sentences have errors and some have non. Find

out which part of a sentence has error and

blacken the oval corresponding to the

appropriate letter (A, B, C). If there is no error,

blacken the oval corresponding to (D) in the

answer sheet.

196. (A) The gardener could not cut the grass

today / (B) because the handle of the

machine / (C) has broken a few days ago.

/ (D) No error.

197. (A) He studied in Australia since  / (B) two

years / (C) and got his doctorate degree. /

(D) No error.

198. (A) The teacher told that / (B) the students

should have gone to the library/ (C) instead

of having wasted their time. / (D) No error.

199. (A) He is/ (B) one of the tallest boy/ (C) in

the class. / (D) No error.

200. (A) We saw/ (B) sand sculptures/ (C) in the

beach. / (D) No error.

ROUGH WORK
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